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eneral Instructions to Candidates : \
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There is a “Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 5 questions from 1 to 6. Each carries 1 score. (5x1=5)

Which among the following is an object — oriented programming language ?
(a) Pascal : (b) FORTRAN

(© C++ (d C

Which among the following is known as push operation ?
(@) Inserting a new data item into a stack.

(b) Deleting aﬁ elemént from top of a stack.

(¢) Inserting an element in a queue.

(d) Inserting an element in a linked list.

Which among the following does not belong to the group ?

(a) Drupal (b) Joomla
(¢) File Zilla (d) WordPress
Write full form of SMTP.

A web page can contain various links that direct to other web pages or specific parts of
same web page. In HTML links are created using <A> tag. The attribute of <A> tag

which specifies link destination is

The year in which IT Act came into existence in India is
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(a) Pascal ‘ (b) FORTRAN
() C++ @ C
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(@) Drupal . (b) Joomla
(¢c) FileZilla (d) WordPress
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Answer any 9 questions from 7 to 18. Each carries 2 scores. 9x2=18)
7.  Structure combines different types of data under a single unit.

Write a structure definition in C++ which includes student details admission number,

name, age and weight.

8.  Which are the operators that facilitates dynamic memory allocation in C++ ? What are

their functions ?
9.  What is reusability ? How is reusability possible through inheritance ?
10. List any two applications of stack.

11. The user name and password of an e-mail account has to be sent securely over the

Internet.
(a) Name the technology used to send data to the server securely.

(b) - How does this technology support secure data communication ?
12. How does browser execute J avaScript code ?

13. Write the keyword used to declare variables in JavaScript.

List different data types in JavaScript.

14. Cardinality of two relations R, and R, are 10 and 8 respectively. They are union

compatible.
(a © What is the maximum possible cardinality of R, UR, ?
(b) What will be the minimum cardinality of R, AR, ?
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15.  What is primary key ? How does it differ from alternate key ?
16.  What are the methods of writing comments in PHP ?
17.  Write any two advantages of parallel computing compared to serial computing.

18.  What is e-Governance ? List any two challenges to e-Governance.

Answer any 9 questions from 19 to 30. Each carries 3 scores. 9 x3=27)

19.  Write differences between array and structure. (At least three differences)

20.. Write any three advantages of object oriented programming compared to procedural

programming.
21.  Write short notes about any six operations on data structures.
22. What is a data centre ? What are the basic facilities required to setup a data centre ?

23. (a) Which HTML tag is used to partition the browser window ? §))

(b) Write HTML code to partition the browser window into two equal vertical
partitions and load two HTML documents samplel.html and sample2.html in

them. ’ 2
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CMINGPYD. ’
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D4. Write built-in functions or properties in J avaScript to perform the following :
(a) To display a message on the screen.
~(b) To check whether a value is number or not.
(c) To get upper case form of a string.
(d) To get lower case form of a string.
(e) To get character ata particular position in a string.

(f)  To get number of characters in a string.

25. What is web hosting ? List different types of web hosting. What are the factors to be

considered while choosing web hosting ?

76. List advantages (any six) of database management system compared to traditional file

management system.

77.  Write SQL commands for the following :

(a) To remove a column from a table.

-

(b) Toremove arow from a table.

(¢) To modify data in a table. .

78.  What are the two methods of sending information from a form to web server ? How do

these two methods differ ? (Write any four differences)

29. Write advantages of cluster computing.

30. What is e-Business ? What are the challenges to e-Business ?

SME-30 8




24, an0Ies Ga1ACTIEIENI (IIBCIHMENUW MSADIMNGIAMICIIRO® J avaScript-ee!
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Answer any 2 questions from 31 to 33. Each carries 5 scores. | 2x5=10)

31. (@ An HTML document begins with <HTML> tag. What are the attributes of
<HTML> tag ? Specify the values these attributes can take. 2

(b) Explain basic structure of an HTML document with a simple example. 3
32. Explain values (any five) that can be given to type attribute of <INPUT> tag.

33. Consider the following table CUSTOMER.

TABLE CUSTOMER

AccNo. NAME BRANCH AMOUNT

1001 APPU CALICUT 40000
1002 ARUN KANNUR 20000
1003 VARUN CALICUT 10000

1004 THARUN | KOTTAYAM 30000

1005 VARUN KANNUR 20000

Write output of the following SQL queries :

(a) Select Name from Customer where Amount > 20000;

(b) Select Avg (Amount) from Customer where Branch = ‘CALICUT;
(¢) Select Name from Customer where Name like ‘A%’

‘Write SQL queries for the following :

(d) To rename the Table Customer as Customer2020.

(¢) To delete record with AccNo. 1003 from the table Customer2020.
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32.

33.

31 ay®a3 33 awow)es ¢2108BsG8 agom@leno 2 IR’ DOMNOHAY) D)o,
5 eapad all.. 2 x5=10)

(a) &0) HTML EheTz)TohiTe i3 @yoElacmm®  <HTML> souflenens, <HTML>
SoUlend @ryESleniyg)eud BODELII0 ? @A Mlle@laenm values ai BOAOBND. 2

(b) ®e) HTML Cabosmeadland erslaunom agism BI7E)) 9B0a00aM] TVatIB)H
QUIBHDAIH ). 3

<INPUT> Souflead type ag)am @wySlen: 810 ma@ds0anm af)omsslele @ean values
OMANTa] Nl vodle@l e

alJQIes Gal@owidles)am CUSTOMER agmn ISl alBlWaNlee) ..

TABLE CUSTOMER
AceNo. NAME BRANCH AMOUNT
1001 APPU CALICUT 40000
1002 ARUN KANNUR 20000
1003 VARUN CALICUT 10000
1004 THARUN | KOTTAYAM 30000
1005 VARUN KANNUR 20000

21)016S Galdoldlenam SQL OSHPABZOS BVGUS af) )OS :
(@ Select Name from Custémer where Amount > 20000;

(b) Select Avg (Amount) from Customer where Branch = ‘CALICUT’;

(¢)  Select Name from Customer where Name like ‘A%,
2SS ODIS)NGlHT @RI seBrdemaalene SQL e@:00lei3 )P} :

(d) Customer agam esenfiglom  Customer2020 oM aiMAMODB06Mo
OalQMGIM.

(e) Accno. 1003 @RVIg88 610650808” Customer2020 of)am esnfigl@d aslam)o
aSleeo aigymaiar;
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